9 km + 521,78

P wyk= 1,49 m2
P nas= 1,41 m2
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9 km + 570
P wyk= 2,22 m2
P nas= 1,58 m2
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9 km + 598
P wyk= 0,18 m2
P nas= 2,09 m2
137,55
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9 km + 634
P wyk= 2,23 m2
P nas= 2,51 m2
135,00
9 km + 664
P wyk= 8,41 m2
P nas= 0,00 m2
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9 km + 688,34
P wyk= 6,94 m2
P nas= 0,00 m2
135,58
9 km + 720
P wyk= 4,20 m2
P nas= 0,00 m2
135,11
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9 km + 720
P wyk= 2,30 m2
P nas= 0,65 m2
135,11
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9 km + 731,55
P wyk= 1,91 m2
P nas= 0,65 m2
134,84
9 km + 760
P wyk= 2,76 m2
P nas= 0,16 m2
134,25
9 km + 787
P wyk= 4,00 m2
P nas= 0,10 m2
134,11
9 km + 808
P wyk= 5,29 m2
P nas= 0,00 m2
13404
9 km + 832
P wyk= 2,84 m2
P nas= 0,00 m2
133,95
9 km + 845
P wyk= 2,11 m2
P nas= 0,17 m2
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